Extended Convergence Of Jarratt Type Methods^{*}

Ioannis Konstantinos Argyros[†], Santhosh George[‡]

Received 21 Feburary 2020

Abstract

The aim of this article is the extension of the convergence of Jarratt type methods for solving equations with Banach space valued operators. We develop w-continuity conditions and only hypotheses on the first derivative contrasting earlier work where hypotheses of order higher than one are used on the derivatives. We also provide error estimates and uniqueness results on the solution based on Lipschitz type conditions not available before. This is how we extend the applicability of these methods. Numerical experiments complete this study.

1 Introduction

Let X, Y stand for Banach spaces, D an open convex set with $D \subset X$, L(X, Y) denote the space of operators from X into Y that are linear, bounded, and $F: D \longrightarrow Y$ be an operator differentiable according to Fréchet.

One of the most interesting and challenging tasks in mathematics is without a doubt the location of a solution x_* for the equation

$$F(x) = 0. \tag{1.1}$$

It is worth noticing that problems from diverse areas vis mathematical modeling lead to determining x_* . This task usually involves the development of iterative methods, since the closed form solution is obtained only in rare occations. After the introduction of the quadratically convergent method of Newton, the need for faster convergence lead to higher order of convergence methods such as the fourth order Jarratt method [12] defined for $x_0 \in D$ and all n = 0, 1, 2, ...

$$\begin{cases} y_n = x_n - F'(x_n)^{-1} F(x_n), \\ x_{n+1} = x_n - J_n F'(x_n)^{-1} F(x_n), \end{cases}$$
(1.2)

where $J_n = J(x_n) = (6F'(y_n) - 2F'(x_n))^{-1}(3F'(y_n) + F'(x_n))$. Later the local convergence analysis of three step method

$$\begin{cases} y_n = x_n - \frac{2}{3}F'(x_n)^{-1}F(x_n), \\ z_n = x_n - \frac{1}{2}(3F'(y_n) - F'(x_n))^{-1}(3F'(y_n) + F'(x_n))F'(x_n)^{-1}F(x_n), \\ x_{n+1} = z_n - T(\lambda_n)F'(x_n)^{-1}F(z_n), \end{cases}$$
(1.3)

was studied in [20], where the sixth order of convergence was shown under some conditions on linear operator T and λ_n but in the special case when $X = Y = \mathbb{R}^k$. The convergence order was established using seventh order derivatives, which significantly limit the applicability of method (1.3). For example: Let $\mathcal{X} = \mathcal{Y} = \mathbb{R}$, $\Omega = [-\frac{1}{2}, \frac{3}{2}]$. Define G on Ω by

$$G(x) = x^3 \log x^2 + x^5 - x^4$$

Then, we have $x_* = 1$, and

$$G'(x) = 3x^2 \log x^2 + 5x^4 - 4x^3 + 2x^2,$$

^{*}Mathematics Subject Classifications: 65H10, 47H17, 49M15, 65D10, 65G99.

 $^{^{\}dagger}\textsc{Department}$ of Mathematical Sciences, Cameron University, Lawton, OK 73505, USA

[‡]Department of Mathematical and Computational Sciences, National Institute of Technology Karnataka, India

$$G''(x) = 6x \log x^2 + 20x^3 - 12x^2 + 10x,$$

$$G'''(x) = 6 \log x^2 + 60x^2 - 24x + 22.$$

Obviously G'''(x) is not bounded on Ω . So, the convergence of solvers (1.2) and (1.3) are not guaranteed by the analysis in [7, 12]. In this study we use only assumptions on the first derivative to prove our results.

Moreover, the following were not given: estimates on $||x_n - x_*||$ useful for determining the number of iterations needed to achieve a predetermined accuracy ε ; results on the uniqueness about a ball centered at x_* . Furthermore, a shot in the dark is used to attain the initial point x_0 . We handle all these concerns using only the first derivative, w-continuity conditions on F' and utilizing (COC) or (ACOC) to determine the convergence order (to be defined in Remark 1 that need only the first derivative.)

The setting of a Banach space is used and a more general method defined as

$$\begin{cases} y_n = x_n - \frac{2}{3}F'(x_n)^{-1}F(x_n), \\ z_n = x_n - \frac{1}{2}(3F'(y_n) - F'(x_n))^{-1}(3F'(y_n) + F'(x_n))F'(x_n)^{-1}F(x_n), \\ x_{n+1} = z_n - H_nF'(x_n)^{-1}F(z_n), \end{cases}$$
(1.4)

where $H_n = H(x_n)$, and $H: D \longrightarrow L(X, Y)$. Note that if $H = T(\lambda)$ and $X = Y = \mathbb{R}^k$ method (1.4) reduces to method (1.3) which in turn has generalized many other popular iterative methods both in the scalar and multidimensional case [1-25].

In Section 2 the local convergence of method is given, whereas Section 3 contains numerical experiments.

2 Local Convergence Analysis

It is convenient for the analysis to follow the development of some scalar functions and parameters. Consider a function $\omega_0 : [0, \infty) \longrightarrow [0, \infty)$ continuous and increasing satisfying $\omega_0(0) = 0$. Suppose that equation

$$\omega_0(t) = 1 \tag{2.5}$$

has a minimal positive solution r_0 . Define functions $\omega : [0, r_0) \longrightarrow [0, \infty)$ and $v : [0, r_0) \longrightarrow [0, \infty)$ continuous and increasing satisfying $\omega(0) = 0$. Define functions φ_1 and ψ_1 on the interval $[0, r_0)$ by

$$\psi_1(t) = \frac{\int_0^1 \omega((1-\theta)t)d\theta + \frac{1}{3}\int_0^1 v(\theta t)d\theta}{1 - \omega_0(t)}$$

 $\psi_1(t) = \varphi_1(t) - 1.$

and

Suppose that

$$\frac{v(0)}{3} - 1 < 0. (2.6)$$

Then, in view of these definitions $\psi_1(0) = -1$ and $\psi_1(t) \longrightarrow \infty$ as $t \longrightarrow r_0^-$. Denote by R_0 the minimal solution of equation $\psi_1(t) = 0$ in $(0, r_0)$ assumed to exist by the intermediate value theorem. Suppose that equation

$$p(t) = 0 \tag{2.7}$$

has a minimal positive solution r_p , where

$$p(t) = \frac{1}{2}(3\omega_0(g_1(t)t) + \omega_0(t)).$$

Define functions φ_2 and ψ_2 on the interval $[0, r_1)$ by

$$\varphi_2(t) = \varphi_1(t) + \frac{3(\omega_0(\varphi_1(t)t) + \omega_0(t))\int_0^1 v(\theta t)d\theta}{4(1 - \omega_0(t))(1 - p(t))}$$

and

$$\psi_2(t) = \varphi_2(t) - 1.$$

Then, we get $\psi_2(0) = -1$ and $\psi_2(t) \longrightarrow \infty$ as $t \longrightarrow r_1^-$. Denote by R_2 the minimal solution of equation $\psi_2(t) = 0$ in $(0, r_1)$. Suppose that equation

$$\omega_0(\varphi_2(t)t) = 1 \tag{2.8}$$

has a minimal positive solution r_2 . Set $r = \min\{r_1, r_2\}$. Let $q : [0, r) \longrightarrow [0, \infty)$ be a continuous and increasing function. Define functions φ_3 and ψ_3 on the interval [0, r) by

$$\varphi_3(t) = \left[\frac{\int_0^1 \omega((1-\theta)\varphi_2(t)t)d\theta}{1-\omega_0(\varphi_2(t)t)} + q(t)\int_0^1 v(\theta\varphi_2(t)t)d\theta\right]\varphi_2(t)$$

and

$$\psi_3(t) = \varphi_3(t) - 1.$$

We obtain again $\psi_3(0) = -1$ and $\psi_3(t) \longrightarrow \infty$ as $t \longrightarrow r^-$. Denote by R_3 the minimal solution of equation $\psi_3(t) = 0$ in the interval (0, r). Define a radius R by

$$R = \min\{R_i\}, \ i = 1, 2, 3. \tag{2.9}$$

We shall show that R is a radius of convergence for method (1.4). By these definitions the following items hold for all $t \in [0, R)$.

$$0 \le \omega_0(t) < 1, \tag{2.10}$$

$$0 \le \omega_0(\varphi_2(t)t) < 1, \tag{2.11}$$

$$0 \le p(t) < 1,$$
 (2.12)

$$0 \le q(t) < 1,$$
 (2.13)

and

$$0 \le \varphi_i(t) < 1. \tag{2.14}$$

We use the notation for a ball: $U(h, \rho) = \{x \in X : ||x - h|| < \rho\}$. Moreover, $\overline{U}(h, \rho)$ denotes the closure of $U(h, \rho)$.

Next, we provide the conditions (C) to be used for the local analysis of method (1.4).

(c1) $F: D \longrightarrow Y$ is differentiable. There exists a simple $x_* \in D$ solving equation (1.1).

(c2) There exist function $\omega_0 : [0, \infty) \longrightarrow [0, \infty)$ continuous and increasing satisfying $\omega_0(0) = 0$ and such that for all $x \in D$

$$||F'(x_*)^{-1}(F'(x) - F'(x_*))|| \le \omega_0(||x - x_*||).$$

Set $D_0 = D \cap U(x_*, r_0)$.

(c3) There exist functions $\omega : [0, r_0) \longrightarrow [0, \infty)$, continuous and increasing satisfying $\omega(0) = 0$ such that for all $x, y \in D_0$

$$||F'(x_*)^{-1}(F'(y) - F'(x))|| \le \omega(||y - x||)$$

and

$$||F'(x_*)^{-1}F'(x)|| \le v(||x - x_*||).$$

Set $D_1 = D \cap U(x_*, r)$.

(c4) There exists function $q:[0,r) \longrightarrow [0,\infty)$ continuous and increasing, $H: D \longrightarrow L(X,Y)$ such that for all $x, z \in D_1$

$$\|(F'^{-1} - H(x)F'^{-1})F'(x_*)\| \le q(\|x - x_*\|).$$

- (c5) $\overline{U}(x_*, R) \subseteq D$, where R is defined in (2.9), (2.6) holds, r_0, r_p, r_2 exist and are given by (2.5), (2.7) and (2.8), respectively.
- (c6) There exists $\overline{R} \ge R$ such that

$$\int_0^1 \omega_0(\theta \bar{R}) d\theta < 1$$

Set $D_2 = D \cap \overline{U}(x_*, \overline{R})$.

Next, the local convergence analysis is given based on condition (C).

Theorem 1 Under the conditions (C) further assume $x_0 \in U(x^*, R) - \{x^*\}$. Then the following assertions hold

$$\{x_n\} \subset U(x_*, R),\tag{2.15}$$

$$\lim_{n \to \infty} x_n = x_*, \tag{2.16}$$

$$||y_n - x^*|| \le \varphi_1(||x_n - x^*||) ||x_n - x^*|| \le ||x_n - x^*|| < R,$$
(2.17)

$$||z_n - x^*|| \le \varphi_2(||x_n - x^*||) ||x_n - x^*|| \le ||x_n - x^*||,$$
(2.18)

$$||x_{n+1} - x^*|| \le \varphi_3(||x_n - x^*||) ||x_n - x^*|| \le ||x_n - x^*||,$$
(2.19)

and x_* solves equation (1.1) uniquely in D_2 a set given in (c6).

Proof. Let us choose $x \in U(x^*, R)$. Using (2.9), (2.10) and (c2), we get that

$$\|F'(x_*)^{-1}(F'(x) - F'(x_*))\| \le \omega_0(\|x_0 - x^*\|) \le \omega_0(R) < 1,$$
(2.20)

leading together with a Lemma on invertible operators due to Banach [16] that F'(x) is invertible and

$$\|F'^{-1}F'(x_*)\| \le \frac{1}{1 - \omega_0(\|x_0 - x^*\|)}.$$
(2.21)

In view of (2.21), y_0 exists by the first substep of method (1.4) if n = 0. We also have

$$F(x) = F(x) - F(x_*) = \int_0^1 F'(x_* + \theta(x - x_*))(x - x_*)d\theta,$$

so by (c3)

$$\|F'(x_*)^{-1}F(x)\| \le \int_0^1 v(\theta \|x - x_*\|) d\theta \|x - x_*\|.$$
(2.22)

Then, by (2.9), (2.14) (for i = 1), (2.21), (2.22) and method (1.4) for n = 0, we obtain in turn that

$$\begin{aligned} \|y_{0} - x_{*}\| &= \|x_{0} - x_{*} - F'(x_{0})^{-1}F(x_{0}) + \frac{1}{3}F'(x_{0})^{-1}F(x_{0})\| \\ &\leq \|F'(x_{0})^{-1}F'(x_{*})\| \left[\int_{0}^{1} \|F'(x_{*})^{-1}[F'(x_{0} + \theta(x_{0} - x_{*})) - F'(x_{0})] \right] \\ &- F'(x_{0})(x_{0} - x_{*})d\theta\| + \frac{1}{3}\|F'(x_{*})^{-1}F(x_{0})\| \\ &\leq \frac{\int_{0}^{1} \omega((1 - \theta)\|x_{0} - x_{*}\|)d\theta + \frac{1}{3}\int_{0}^{1} v(\theta\|x_{0} - x_{*}\|)d\theta}{1 - \omega_{0}(\|x_{0} - x_{*}\|)} \|x_{0} - x_{*}\| \\ &\leq \varphi_{1}(\|x_{0} - x_{*}\|)\|x_{0} - x_{*}\| \leq \|x_{0} - x_{*}\| < R, \end{aligned}$$
(2.23)

I. K. Argyros and S. George

showing $y_0 \in U(x_*, R)$ and the validity of (2.17) for n = 0. We must show that $3F'(y_0) - F'(x_0)$ is invertible. Indeed, by (2.9), (2.12), (2.23) and (c2), we get that

$$\| (2F'(x_*))^{-1} (3(F'(y_0) - F'(x_*)) + (F'(x_*) - F'(x_0)) \|$$

$$\leq \frac{1}{2} [3\|F'(x_*)^{-1} (F'(y_0) - F'(x_*))\| + \|F'(x_*)^{-1} (F'(x_*) - F'(x_0))\|]$$

$$\leq \frac{1}{3} (3\omega_0 (\|y_0 - x_*\|) + \omega_0 (\|x_0 - x_*\|))$$

$$\leq \frac{1}{3} (3(\omega_0 (\varphi_1 (\|x_0 - x_*\|) \| \|x_0 - x_*\|) + \omega_0 (\|x_0 - x_*\|))$$

$$\leq p(\|x_0 - x_*\|) \leq p(R) < 1,$$

$$(2.24)$$

 \mathbf{SO}

$$\|(3F'(y_0) - F'(x_0))^{-1}F'(x_*)\| \le \frac{1}{2(1 - p(\|x_0 - x_*\|))},$$
(2.25)

and z_0 exists by the second substep of method (1.4) for n = 0. Then, in view of (2.9), (2.14) (for i = 2), (2.23), (2.25) and the second substep of method (1.4) for n = 0, we have in turn that

$$\begin{aligned} \|z_{0} - x_{*}\| \\ &= \|(x_{0} - x_{*} - F'(x_{0})^{-1}F(x_{0})) \\ &+ [I - \frac{1}{2}(3F'(y_{0}) - F'(x_{0}))^{-1}(3F'(y_{0}) + F'(x_{0}))]F'(x_{0})^{-1}F(x_{0}) \\ &= (x_{0} - x_{*} - F'(x_{0})^{-1}F(x_{0})) + \frac{3}{2}(3F'(y_{0}) - F'(x_{0}))^{-1} \\ &\times [(F'(y_{0}) - F'(x_{*})) + (F'(x_{*}) - F'(x_{0}))]F'(x_{0})^{-1}F(x_{0})\| \\ &\leq \left[\varphi_{1}(\|x_{0} - x_{*}\|) + \frac{3}{4}\frac{(\omega_{0}(\|y_{0} - x_{*}\|) + \omega_{0}(\|x_{0} - x_{*}\|))\int_{0}^{1}v(\theta\|x_{0} - x_{*}\|)d\theta}{(1 - \omega_{0}(\|x_{0} - x_{*}\|))(1 - p(\|x_{0} - x_{*}\|))d\theta}\right] \\ &\times \|x_{0} - x_{*}\| \\ &\leq \varphi_{2}(\|x_{0} - x_{*}\|)\|x_{0} - x_{*}\| \leq \|x_{0} - x_{*}\| < R, \end{aligned}$$

so $z_0 \in U(x_*, R)$ and (2.18) hold for n = 0. As in (2.21) for $x = z_0$, we have

$$\|F'(z_0)^{-1}F'(x_*)\| \leq \frac{1}{1 - w_0(\|z_0 - x_*\|)} \\ \leq \frac{1}{1 - \omega_0(\varphi_2(\|x_0 - x_*\|)\|x_0 - x_*\|)},$$
(2.27)

and x_1 exists by the third substep of method (1.4) for n = 0. Moreover, using (2.9), (c4), (2.14) (for i = 3), (2.22) (for $x = z_0$) and (2.27), we have in turn that

$$\begin{aligned} \|x_{1} - x_{*}\| &\leq \|(z_{0} - x_{*} - F'(z_{0})^{-1}F(z_{0}))\| \\ &+ \|(F'(z_{0})^{-1} - H(x_{0})F'(x_{0})^{-1})F'(x_{*})\|\|F'(x_{*})^{-1}F(z_{0})\| \\ &\leq \left[\frac{\int_{0}^{1}\omega((1-\theta)\|z_{0} - x_{*}\|)d\theta}{1 - \omega_{0}(\|z_{0} - x_{*}\|)}\right] \\ &q(\|x_{0} - x_{*}\|)\int_{0}^{1}v(\theta\|z_{0} - x_{*}\|)d\theta\right]\|z_{0} - x_{*}\| \\ &\leq \varphi_{3}(\|x_{0} - x_{*}\|)\|x_{0} - x_{*}\| \leq \|x_{0} - x_{*}\|, \end{aligned}$$
(2.28)

so $x_1 \in U(x_*, R)$ and (2.19) holds for n = 0. The induction for (2.17)–(2.19) is terminated if x_0, y_0, z_0, x_1 are switched with x_k, y_k, z_k, x_{k+1} , respectively in the above estimates. Then, by the estimate

$$||x_{k+1} - x^*|| \le \rho ||x_n - x^*|| \le R,$$
(2.29)

where $\rho = \varphi_3(||x_0 - x^*||) \in [0, 1)$, we conclude that $\lim_{k \to \infty} x_k = x_*$ and $x_{k+1} \in U(x^*, R)$. The uniqueness of the solution x_* is shown by considering $y_* \in D_2$ so that $F(y_*) = 0$ and setting $Q = \int_0^1 F'(x_* + \theta(y_* - x_*))d\theta$. Then, by (c6), we have

$$\|F'(x_*)^{-1}(Q - F'(x_*))\| \le \int_0^1 \omega_0(\theta \|y_* - x_*\|) d\theta \le \int_0^1 \omega_0(\theta \bar{R}) d\theta < 1,$$

so Q is invertible. Finally, $x_* = y_*$ by the identity

$$0 = F(y_*) - F(x_*) = Q(y_* - x_*).$$

Remark 1 1. We can compute the computational order of convergence (COC) [24] defined by

$$\xi = \ln\left(\frac{\|x_{n+1} - x^*\|}{\|x_n - x^*\|}\right) / \ln\left(\frac{\|x_n - x^*\|}{\|x_{n-1} - x^*\|}\right)$$

or the approximate computational order of convergence

$$\xi_1 = \ln\left(\frac{\|x_{n+1} - x_n\|}{\|x_n - x_{n-1}\|}\right) / \ln\left(\frac{\|x_n - x_{n-1}\|}{\|x_{n-1} - x_{n-2}\|}\right).$$

This way we obtain in practice the order of convergence without resorting to the computation of higher order derivatives appearing in the method or in the sufficient convergence criteria usually appearing in the Taylor expansions for the proofs of those results.

2. Let us consider a choice for H that will also be used on all examples:

$$H(x_n) = I.$$

Then, we get in turn

$$\begin{aligned} &\|(F'(z_n)^{-1} - H(x_n)F'(x_n)^{-1})F'(x_*)\| \\ &= \|(F'(z_n)^{-1} - F'(x_n)^{-1})F'(x_*)\| \\ &= \|F'(z_n)^{-1}(F'(x_n) - F'(z_n))F'(x_n)^{-1}F'(x_*)\| \\ &\leq \|F'(z_n)^{-1}F'(x_*)\|[\|F'(x_*)^{-1}(F'(x_n) - F'(x_*))\| \\ &+\|F'(x_*)^{-1}(F'(z_0) - F'(x_*))\|\||F'(x_*)^{-1}F'(x_n)\| \\ &\leq \frac{\omega_0(\|x_n - x_*\|) + \omega_0(\|z_0 - x_*\|)}{(1 - \omega_0(\|z_0 - x_*\|))(1 - \omega_0(\|x_n - x_*\|))} \\ &\leq \frac{\omega_0(\|x_n - x_*\|) + \omega_0(\varphi_1(\|x_0 - x_*\|)\|x_n - x_*\|)}{(1 - \omega_0(\varphi_1(\|x_0 - x_*\|)\|x_0 - x_*\|)(1 - \omega_0(\|x_n - x_*\|))} \end{aligned}$$

Therefore, we can choose

$$q(t) = \frac{\omega_0(t) + \omega_0(\varphi_1(t)t)}{(1 - \omega_0(\varphi_1(t)t))(1 - \omega_0(t))}$$

3 Numerical Examples

Example 1 Let us consider a system of differential equations governing the motion of an object and given by $\mathbf{P}'(\cdot) = \mathbf{T} \cdot \mathbf{P}'(\cdot) = (\mathbf{r} \cdot \mathbf{P}'(\cdot) - \mathbf{r} \cdot \mathbf{P}'(\cdot) = \mathbf{P}'(\cdot) = \mathbf{r} \cdot \mathbf{P}'(\cdot) = \mathbf{P}'$

$$F'_1(x) = e^x$$
, $F'_2(y) = (e-1)y + 1$, $F'_3(z) = 1$

with initial conditions $F_1(0) = F_2(0) = F_3(0) = 0$. Let $F = (F_1, F, F_3)$. Let $\mathcal{B}_1 = \mathcal{B}_2 = \mathbb{R}^3$, $D = \overline{U}(0, 1)$, $p = (0, 0, 0)^T$. Define function F on D for $w = (x, y, z)^T$ by

$$F(w) = (e^{x} - 1, \frac{e - 1}{2}y^{2} + y, z)^{T}$$

The Fréchet-derivative is defined by

$$F'(v) = \begin{bmatrix} e^x & 0 & 0\\ 0 & (e-1)y+1 & 0\\ 0 & 0 & 1 \end{bmatrix}$$

Notice that using the (A) conditions, we get for $\alpha = 1$, $w_0(t) = (e-1)t$, $w(t) = e^{\frac{1}{e-1}t}$, $v(t) = e^{\frac{1}{e-1}t}$. The radii are

$$R_1 = 0.154407$$
, $R_2 = 0.0555405$, $R_3 = 0.0853234$ and $R = R_2$

Example 2 Let $\mathcal{B}_1 = \mathcal{B}_2 = C[0,1]$, the space of continuous functions defined on [0,1] be equipped with the max norm. Let $D = \overline{U}(0,1)$. Define function F on D by

$$F(\varphi)(x) = \varphi(x) - 5 \int_0^1 x \theta \varphi(\theta)^3 d\theta.$$
(3.30)

We have that

$$F'(\varphi(\xi))(x) = \xi(x) - 15 \int_0^1 x \theta \varphi(\theta)^2 \xi(\theta) d\theta, \text{ for each } \xi \in D.$$

Then, we get that $x^* = 0$, so $w_0(t) = 7.5t$, w(t) = 15t and v(t) = 2. Then the radii are

$$R_1 = 0.02222, R_2 = 0.00886359, R_3 = 0.0154587$$
 and $R = R_2$

Example 3 Returning back to the motivational example at the introduction of this study, we have $w_0(t) = w(t) = 96.6629073t$ and $v_1(t) = 2$. The parameters for method (1.2) are

 $R_1 = 0.002229894, R_2 = 0.000765558, R_3 = 0.00294163 and R = R_2.$

References

- S. Amat, S. Busquier and S. Plaza, Dynamics of the King and Jarratt iterations, Aequ. Math., 69(2005), 212–223.
- [2] I. K. Argyros, A new convergence theorem for the Jarratt method in Banach space, Comput.Math. Appl., 36(1998), 13–18.
- [3] I. K. Argyros, Convergence and Application of Newton-Type Iterations. Springer, New York, 2008.
- [4] I. K. Argyros, D. Chen and Q. Qian, The Jarratt method in Banach space setting, J. Comput.Appl. Math., 51(1994), 103–106.
- [5] I. K. Argyros and A. A. Magreñañ, Iterative Methods and their Dynamics with Applications: A Contemporary Study, CRC Press, 2017.
- [6] I. K. Argyros and S. George, Mathematical modeling for the solution of equations and systems of equations with applications, Volume-III, Nova Publishes, NY, 2019.

- [7] I. K. Argyros and S. George, Mathematical modeling for the solution of equations and systems of equations with applications, Volume-IV, Nova Publishes, NY, 2020.
- [8] C. Chun, Some improvements of Jarratt's method with sixth-order convergence, Appl. Math. Comput., 190(2007), 1432–1437.
- C. Chun and Y. Ham, Some sixth-order variants of Ostrowski root-finding methods, Appl. Math. Comput., 193(2007), 389–394.
- [10] M. Grau-Sánchez, Improvements of the efficiency of some three-step iterative like-Newton methods, Numer. Math., 107(2007), 131–146.
- [11] M. A. Hernandez and M.A. Salanova, Relaxing convergence conditions for the Jarratt method, Southwest Journal of Pure and Applied Mathematic, 2(1997), 16–19.
- [12] P. Jarratt, Some fourth order multipoint iterative methods for solving equations, Math. Comput., 20(1966), 434–437.
- [13] L.V. Kantorovich and G. P. Akilov, Functional Analysis, Pergamon Press, Oxford, 1982.
- [14] R. F. King, A family of fourth order methods for nonlinear equations, SIAM J. Numer. Anal., 10(1973), 876–879.
- [15] J. Kou, Y. Li and X. Wang, An improvement of the Jarrat method, Appl. Math. Comput., 189(2007), 1816–1821.
- [16] J. Kou, Y. Li and X. Wang, Some variants of Ostrowski's method with seventh-order convergence, J. Comput. Appl. Math., 209(2007), 153–159.
- [17] A. A. Magreńan, Different anomalies in a Jarratt family of iterative root finding methods, Appl. Math. Comput., 233(2014), 29–38.
- [18] A. A. Magreńan, A new tool to study real dynamics: The convergence plane, Appl. Math. Comput., 248(2014), 29–38.
- [19] M. S. Petkovic, B. Neta, L. Petkovic and J. Džunič, Multipoint Methods for Solving Nonlinear Equations, Elsevier, 2013.
- [20] H. Ren, Q.Wu and W. Bi, New variants of Jarratt's method with sixth-order convergence Hongmin, Numer Algor, 52(2009), 585–603.
- [21] W.C. Rheinboldt, An adaptive continuation process for solving systems of nonlinear equations, In: Mathematical models and numerical methods (A.N.Tikhonov et al. eds.) pub.3, (1977), 129-142 Banach Center, Warsaw Poland.
- [22] J. R. Sharma and R. K. Guha, A family of modified Ostrowski methods with accelerated sixth-order convergence, Appl. Math. Comput., 190(2007), 111–115.
- [23] J. F. Traub, Iterative Methods for the Solution of Equations, AMS Chelsea Publishing, 1982.
- [24] S. Weerakoon and T. G. I. Fernando, A variant of Newton's method with accelerated third-order convergence, Appl. Math. Lett., 13(2000), 87–93.
- [25] X. Wang, J. Kou and Y. Li, A variant of Jarratt method with sixth-order convergence, Appl. Math. Comput., 204(2008), 14–19.